Maximum Likelihood Estimates 1
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Example O: The number of accidents per day
has a Poisson distribution. If there were 3
accidents on Tuesday, which is "more likely",
that the expected number of accidents per
day is 2, or that it is 3?
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Example 1: The waiting time between hits for a
webpage has an exponential distribution with
density f(x)=re”(-Ax). If the first five waiting
times are 5.5, 8.0, 2.7, 1.7, and 10.7 seconds,
estimate A.
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Example 3: Loss amounts are uniform on (0,0).
If the first 5 losses are 1.7, 3.0, 1.1, 3.6, and

0.6, find the MLE for 6.
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